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WX 21 said; for instance, one went, etc.  — 91 TR PAD AR MWN 2

OVERVIEW

The X713 is discussing the issue why the partners cannot renege on their agreement
to divide the 7¥r. The X3 answered that they made a mmn2 1P, which binds
them to their agreement. *wX 217 offers an alternate explanation. They each actually
made a 1P in their respective halves. It would seem more than obvious that once
they were 12 their respective shares, they cannot renege. N1901N maintains that
this answer is too obvious. It is stating that once they divided they cannot renege;
but of course they cannot! N800 resolves this issue.

mooIn asks:
— ‘]’Oﬁ‘nb YUN 29 N2 NN PHY 19%249Y NN

The "1 is astounded! What is *¥X 27 coming to add with his answer, that each of the

partners made a 71177 in his respective share?!
- 11’)‘,7 195 DY NPINT IIPINIYNY TPI0N )

Is it then necessary to inform us that a 11 is as valid as a 1°3p?! It is obvious that
if each partner made a 7P 7°3P in his part of the 7x¥m, that they acquired it and they cannot go
back on their agreement to divide.

N1B0IN answers:
— (v 91 NN NPINA PIPY MNDT 23 HY GNT )Y ¥9WUM NP KDT PHYS 135299 NN

The "7 assumes that this is what X" is teaching us; that even though the X773

says later in 23027 NP3 P79, if someone wants to acquire a field through 7P 1Ip, then if

the 7P 1s being performed -
— NP PN YYD 919Y 7998 19192 NV

not in the presence of the previous owner, then it is required that the previous

owner say to him before he makes the 7P, ‘Go make a 7P and acquire the
property for yourself’. Otherwise, if he did not tell him this, and he made the 7P not in the
presence of the previous owner, the 7111 is invalid. The field still belongs to the previous owner.

The question arises, what would be in our case of 7¥n77 np17n. Are they required to say to each
other 3?1 P11 72 (or make the P11 in the presence of each other), or not. M50IN continues:
— 5713997 1M1 2N HNAX NI NPH NHN IINRY 11°2 NON

Here in the case of 1¥m7 npon since they said to each other, you take the
northern half and I will take the southern half -

! The term 11p is referring to (1TI0) 1991 TIR.
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— 1119392 NOW NTHIYYWA THN 921D PNy 7om
And they subsequently went and each made a 7?7 in his portion not in the

presence of the other, nonetheless -
£ PIN 19 1Y N1 1IN XYY 9 Y GN NI D10 NPY 295 NYUY)

It becomes as if they made a nym=2 3712, in which case it is a valid 11p. Similarly

here too it is a valid P11 even though they did not say to each other "y 17 >,
The 73p11 that each one made YW 7102 is not the usual 7P 1P, A usual 7pm P would not be
valid since it took place 1192 X5w and neither said to the other °371 P11 7%. Rather the effect of the
7P is in lieu of the 17°» 1p. Just as by 17°n 1P each partner is making a 1°Ip whereby he is
relinquishing his rights in the other half of the property and granting it to his partner; similarly in
the case of P 1M "1 7%nw, this P is a 1P that each partner only claims this half for
themselves. The partners are relinquishing their rights to the other half and granting it to their
respective pau‘tners.2

SUMMARY

WX 27 1s teaching us that the 1P to divide can be either by specifically making a
T3P to that effect, N1M72 17°n 1p; or by each of the partners making a 717 in his
share after they verbally agreed to divide the property (north and south). In the
latter case too, they cannot renege on their agreement even though it was done 77
*192 XYW 777 and neither said to the other *1p1 P 5.

THINKING IT OVER
1. Where is there a greater v17°11 that they cannot renege on their agreement; in the
case of MMI2 171 1P or in the case of 121 P> 71 7977

2. What would be the 7°7 in the case of *wx 27 if there was only a general agreement
to divide without specifying north and south, etc.; could they renege on this

agreement after they each made a fpm?

3. What is the purpose of the 7P in the X"17 of MdOIN as opposed to the Xipon?

% This type of 71p does not require saying 3?1 pr1 72. That requirement is limited to cases where there is a new
owner, who previously did not have any interest at all in this property. We are not certain that the previous owner is
willing to give up his ownership unless he states clearly, *121 P11 72. In our case however, they are both partners; they
each own (half of) the field. The 737 here is merely to effect their agreement of division. To accomplish this
clarification as to their mutual relinquishing of interest in the property, *321 P11 72 is not required.
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